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Question Number : 1 Question Id : 36496350513 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Which principle of development suggests that different body systems grows at different rates?
Options:

1. The cephalocaudal principle

2. The proximodistal principle

3. The principle of hierarchial integration

4. The principle of independence of systems

Question Number : 1 Question Id : 36496350513 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

TereFTr 1 P91 g §aTeT 2 To IR0 o Taes o 1o o1 &0 W (9 2 27
Options:

, Hqﬁm@ﬁqﬂ@ EPEALE

w3

, TETRIEa TR T g



4. STt 3t F=eraT = foara

Question Number : 2 Question Id : 36496350514 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Physical development of children -

Options :

1. consists of only quantitative changes.

2. consists of only qualitative changes.

3. can be accurately predicted by comparisons with developmental milestones.

4. occurs in an orderly and sequential manner but rates of development of individual children

vary.

Question Number : 2 Question Id : 36496350514 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 3 Question Id : 36496350515 Question Type : MCQ Option Shuffling : Yes Is



Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Developmental changes -

Options :

1. are highly unpredictable.

2. occur very fast till middle childhood then reach a plateau and stop.
3. occur at varying rates in individuals.

4. are independent of the socio-cultural context.

Question Number : 3 Question Id : 36496350515 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 4 Question Id : 36496350516 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Assertion (A): Apart from academic concepts children learn a lot of skills as well as values and
beliefs in schools.
Reason (R): Schools are a secondary but important agency of socialization of children.

Choose the correct option.



Options :

1. Both (A) and (R) are true and (R) is the correct explanation of (A).

2. Both (A) and (R) are true but (R) is not the correct explanation of (A).
3. (A) is true but (R) is false.

4. Both (A) and (R) are false.

Question Number : 4 Question Id : 36496350516 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 5 Question Id : 36496350517 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

When a young child sees a camel for the first time she calls it ‘lumpy horse'. In Piagetian theory

this is an example of -
Options :
1. conservation

2. centration



3. animism

4. assimilation

Question Number : 5 Question Id : 36496350517 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 6 Question Id : 36496350518 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Which of the following pair is a correct pair of Piagetian stage and its characterstic

Options :

1. Stage- Formal operational; Characteristic-Hypo-thetico deductive reasoning
2. Stage- Sensori-motor; Characteristic- Symbolic thinking

3. Stage- Pre-operational; Characteristic- Conservation

4. Stage- Concrete operational; Characteristic- Abstract reasoning

Question Number : 6 Question Id : 36496350518 Question Type : MCQ Option Shuffling : Yes Is



Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 7 Question Id : 36496350519 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

In Lev Vygotsky's theory, physical items such as calculator, computer as well as intellectual

frameworks such as language are called -
Options :

1. figuration materials.

2. cultural tools.

3. concept maps.

4. memory aids.

Question Number : 7 Question Id : 36496350519 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 8 Question Id : 36496350520 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

In a classroom based on principles of Piaget and Vygotsky what should be the characteristics of

the teacher?
(i) Molrility

(ii) Flexibility
(iii) Didactic

(iv) Transmitter of knowledge
Options :

1. (i) (ii)

2. (iii) (iv)

3. (ii) (iv)

4. (i) (ii) (iv)

Question Number : 8 Question Id : 36496350520 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 9 Question Id : 36496350521 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Which of the following characterizes a progressive classroom?
Options :

1. Material is meant only for display.

2. Seating arrangement is fixed.

3. Children are assessed at the end of the year through formal exams.

4. Teacher provides learning opportunities to children to enable conceptual understanding.

Question Number : 9 Question Id : 36496350521 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 10 Question Id : 36496350522 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Moral reasoning is based on the understanding of ideal reciprocity - the Golden rule in which the
individuals wants to maintain the approval of others at which stage in Kohlberg's theory of moral

development?

Options :

1. Punishment and obedience orientation
2. Social contract orientation

3. Universal ethical principles

4. Good boy-good girl orientation

Question Number : 10 Question Id : 36496350522 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 11 Question Id : 36496350523 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Howard Gardner-

Options :

1. proposed the idea of intelligence as a singular trait.

2. divided intelligence into two factors - ‘general’ and ‘specific'.

3. classified intellectual traits on three dimensions - operations, contents and products.

4. argued that several distinct types of intelligence exist.

Question Number : 11 Question Id : 36496350523 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 12 Question Id : 36496350524 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

is reflected in the perception that girls will do well in languages but will perform

poorly in mathematics and science.
Options :

1. Gender equity

2. Gender equality

3. Gender identity

4. Gender stereotype

Question Number : 12 Question Id : 36496350524 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 13 Question Id : 36496350525 Question Type : MCQ Option Shuffling : Yes



Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

In a classroom with diverse learners from different languages and castes, it is important to -
Options :

1. understand that differences are deficits in children and these need to be immediately corrected.

2. understand that all children have a potential to learn and design activities to help them

progress at their own pace.

3. encourage all the children to adopt the same learning style so that everyone is at the same

pace.

4. encourage competition among the children to facilitate meaningful learning.

Question Number : 13 Question Id : 36496350525 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 14 Question Id : 36496350526 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



Assessment of children -

Options:

1. should be undertaken only to provide evidence for evaluating individual students.
2. should serve the purpose of comparing children and levelling them accordingly.
3. should be done only at the end of the year through objective paper-pencil tests.

4. skills that the child possesses as well as here learning potential.

Question Number : 14 Question Id : 36496350526 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 15 Question Id : 36496350527 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Which of the following statements about questioning in class is correct?
Options :

1. Primary purpose of asking questions by the teacher is to test the students.
2. Only teachers should ask questions in the class.

3. Questions based on knowledge and comprehension should be encouraged rather than analysis



and application.

4. Teachers should use questions in the class to create cognitive conflict to facilitate learning.

Question Number : 15 Question Id : 36496350527 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 16 Question Id : 36496350528 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Which of the following principle underlies the philosophy of Inclusive education?
Options :

1. Discrimination

2. Equity

3. Labelling

4. Stereotyping

Question Number : 16 Question Id : 36496350528 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No



Correct Marks : 1 Wrong Marks : 0
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Question Number : 17 Question Id : 36496350529 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Which of the following affects an individual’s ability to move and maintain balance and posture?
Options :

1. Autism

2. Cerebral Palsy

3. Dyslexia

4. Speech Impairment

Question Number : 17 Question Id : 36496350529 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 18 Question Id : 36496350530 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

In order to include students with specific learning disability, a teacher should avoid:
Options :

1. breaking long tasks into appropriate parts.

2. providing prompts of strategies to use.

3. providing reqgular, quality feedback

4, setting rigid timelines of task submission.

Question Number : 18 Question Id : 36496350530 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 19 Question Id : 36496350531 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Inclusion of students from economically weaker sections in private schools under the provision of

Right to Education Act (2009) mainly aims at:
Options :

1. Burdening the teacher with extra work.

2. Perpetuating inequality in education.

3. Reducing social stratification.

4. Strengthening stereotypes related to social classes.

Question Number : 19 Question Id : 36496350531 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 20 Question Id : 36496350532 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



Which of the following is a correctly matched pair of appropriate accommodation strategy for

inclusion of students with the specified characteristics?
Options :

1. Gifted: Give space to work independently

2. Autism: Increase sensory overload

3. Dyslexia: Assessment based on long-essay writing

4. Hearing impairment: Show movies without subtitles

Question Number : 20 Question Id : 36496350532 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 21 Question Id : 36496350533 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Assertion (A): A teacher discusses with her class 6th students, norms and rules for having

meaningful classroom discussions.

Reason (R): Teacher should always be in control in the class and dictate classroom rules without



consulting the students.

Choose the correct option.

Options :

1. Both (A) and (R) are true and (R) is the correct explanation of (A).

2. Both (A) and (R) are true but (R) is not the correct explanation of (A).
3. (A) is true but (R) is false.

4. Both (A) and (R) are false.

Question Number : 21 Question Id : 36496350533 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 22 Question Id : 36496350534 Question Type : MCQ Option Shuffling : Yes



Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

In a socio - constructivist classroom -

Options :

1. learning is decontextualized.

2. teachers are in total control of the classroom.

3. students construct knowledge by interacting with each other and the teachers.

4. assessment is summative and standardized.

Question Number : 22 Question Id : 36496350534 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 23 Question Id : 36496350535 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Which of the following statement is correct as per National Education Policy 20207?
Options:

1. Monolingualism should be practiced at all levels.



2. Emphasis should be placed on rote learning and learning-for exams.
3. Use of technology should be discouraged for divyang students.

4. Flexibility should be provided for students to choose their learning trajectories and

programmes.

Question Number : 23 Question Id : 36496350535 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 24 Question Id : 36496350536 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Assertion (A): The new learning should be based upon preceding facts and information and related

to what children already know.

Reason (R): Children learn in a spiral and not a linear way.

Choose the correct option.



Options :

1. Both (A) and (R) are true and (R) is the correct explanation of (A).

2. Both (A) and (R) are true but (R) is not the correct explanation of (A).
3. (A) is true but (R) is false.

4. Both (A) and (R) are false.

Question Number : 24 Question Id : 36496350536 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 25 Question Id : 36496350537 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

In order to facilitate learning among students, a teacher should students to participate
in classroom discussions and other activities.
Options :

1. discourage, constructive

2. discourage, meaningful



3. encourage, collaborative

4. encourage, meaningless

Question Number : 25 Question Id : 36496350537 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

T o AT 51 T 3 3 (T, o T 27 (ot s s ol G 9 a4
TEE  FWEh

Options :

1 TEATCHS, AT

b % ~
3 Hed M cqeh, T e d

, IR, Tt

Question Number : 26 Question Id : 36496350538 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

How does a child primarily think and learn?

Options :

1. By being a passive receiver of information.

2. Through fear of punishment.

3. Through her own activity in the world including social interactions.

4. By forming stimulus-response associations.

Question Number : 26 Question Id : 36496350538 Question Type : MCQ Option Shuffling : Yes



Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
= A i A= 3 S o
Options :

o et =
Skl oh THIeeRY Taulchal oh ©9 H

1.

> TS F T H FRA

L1

. _ e < O o S r~ R . &
3. FEIH T TSRATU Shieh [STEH |HETISTeR A 5haTy TMHA ©

& [l &L ™
4, STAI-ATdISRAT HHT =Rl 0H hish

Question Number : 27 Question Id : 36496350539 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Which the following statements is NOT correct in the context of alternative conceptions of

children?
Options:
1. Children’s conceptions are based on their social and cultural experiences.

2. Children are born to make sense of the world and they try to formulate reasons for

phenomenon around them.
3. Children are illogical, unintelligent and do not possess the capacity for meaning - making.

4. It is important to understand children’s conceptions and build upon it.

Question Number : 27 Question Id : 36496350539 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 28 Question Id : 36496350540 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Knowledge that individual have about their own thinking and how they themselves learn is called -
Options :

1. cognition

2. metacognition

3. declarative knowledge

4. procedural knowledge

Question Number : 28 Question Id : 36496350540 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 29 Question Id : 36496350541 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Students should be encouraged to set goals and adopt a view of ability.
Options :

1. mastery-oriented; entity

2. mastery-oriented; incremental

3. ego-involved; entity

4. ego-involved; incremental

Question Number : 29 Question Id : 36496350541 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 30 Question Id : 36496350542 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Which of the following factors are responsible for children’s failure in schools?

(i) Fear and anxiety

(ii) Boredom and confusion

(iii) Irrelevant curriculum

(iv) Decontextualized pedagogy
Options :

1. (i) (iii)

2. (i) (ii) (iii)

3. (i) (iii) (iv)

4. (i) (ii) (iii) (iv)

Question Number : 30 Question Id : 36496350542 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

S S g
[~

ﬁéiﬁqﬁia?ﬁraﬂmﬂm%ﬁﬁw T TeAREd O & ShiH-§ FEF (SEeR 27
i, YT AN IeRaT

ii. S8 AR ITE

i, TR ‘-lle;:\é-lth‘-li

iv. oTEENT foememeE

Options :
. (i) 3 (iii)

5 (D), (ii) R (iii)



5. (D), (iii) ¥ (iv)

5 (1) (i), (iii) 37 (iv)

Mathematics and Science

Section Id :

Section Number :

Section type :

Mandatory or Optional :

Number of Questions :

Number of Questions to be attempted :

Section Marks :

Enable Mark as Answered Mark for Review and

Clear Response:
Sub-Section Number :
Sub-Section Id :

Question Shuffling Allowed :

3649631619
2

Online
Mandatory
60

60

60

Yes

1
3649632931

Yes

Question Number : 31 Question Id : 36496350543 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

If x is the sum of integers between —9 and -1 and y is the product of integers between -3 and 3, then what is the value

ofx +y?

Options :



Question Number : 31 Question Id : 36496350543 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
e~ 9 4 — | % 3 5 TR 1 9T 2, 30 —3 410 5 35 0 5 QT 1 0T, 0 (1+ ) F AR T

Options :
1. =30
2. =43
3. —40
4. —35

Question Number : 32 Question Id : 36496350544 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

The least number which must be subtracted from 893308 to obtain a perfect square is x . What is the sum of the digits of

Options :

1. 13

2. 14

w
—
Lhn



Question Number : 32 Question Id : 36496350544 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
893308 & ¥ =R TG v T W, IE UF YU 1 & Sl 2] x 3 St H AT E —

Options :
1. 13

2. 14

Question Number : 33 Question Id : 36496350545 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

519 » 721 and
5120 4 719

HCF of x, yand z is

. then

Options :

3127 5119 719

1.

5 3128 o 5120 o 416

3 3126 5 5119 o 416



4 3126 5120 4 416

Question Number : 33 Question Id : 36496350545 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

x=3127 x 5121 4 716
y=3128 x 5119 721 T
7=3126 » 5120 , 719 &

A, y Rz FTHCF (7.9.) B
Options :

1 312? \ 5119 ” ?19

2 3123 v 5120 v, ?16

3 3126 v 511"5'I ” ?16

4 3126 v 5120 v, ?16

Question Number : 34 Question Id : 36496350546 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

2 7 —11

—&
e S
=1 12 [=]
<
S

]-_E'tﬂ=ai —= 7
9+

XK=+ =
iz 7

Then. the value of a is



Options :
675
1. 168

575
5 168

675
3. 158

575
4. 158

Question Number : 34 Question Id : 36496350546 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
2 —4 7  —11

. T T
e it foh o= 2 —2—2—2 2
ity Dy L

FHaFAFTE —  ©

3 15 27

Options :
675
1. 168

575
5> 168

675
3 158

575
4. 158



Question Number : 35 Question Id : 36496350547 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

—2 -3
If x= G) =+ G) , then what is the reciprocal of x ?

Options :
27
1. 32

32

16

Question Number : 35 Question Id : 36496350547 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
i A s
e x = (E) = (E) 2, Tl x 1 Sohd 1 3?

Options:
27
1. 32

32
y R



16
4, 27

Question Number : 36 Question Id : 36496350548 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

A factor common to both

i | 3 -
r=—_xr —hand x<—-5x% +6

Is

Options :
1. x +3
2. X =3
3. x +3
4, X =2

Question Number : 36 Question Id : 36496350548 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

4 m

x2 —x— 63 x2 —5¢+ 63T UF IS gum@'@%l

Options:

1. X+2



Question Number : 37 Question Id : 36496350549 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

What is the coefficient of x 2 in the product of
quﬁ—ix —and(3x2+4x +1)?

Options :
17
1. 12

Question Number : 37 Question Id : 36496350549 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
5 - ~ ,
G x2+;x—3)3ﬁ'((3x2+ 4x +1) FHIHARAH x> A0 TR

Options :
T
1. 12



Question Number : 38 Question Id : 36496350550 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

2(3y—4)+6 _ 3

3y—(4+45y) 5

then the value of (9y + 1 )1is
Options:

1.5

ta| =

w
| e

I~

4. ~

Question Number : 38 Question Id : 36496350550 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
2(3y—4)+6 3
3y—(4+5y) 5

B, (9y+ ) FOHE

Options :

1, —1



w
0D | W

[~

Question Number : 39 Question Id : 36496350551 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
If2x —3y =5and xy =6,

then what is the value of (4 x 249 y 2y2
Options :
1. 70

-

4, 97

Question Number : 39 Question Id : 36496350551 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
T 2x —3y=5TMxy=6%2, @ (4x2 + 9y? ) FI AT T

Options:
1. 10



Question Number : 40 Question Id : 36496350552 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Options :
1. 15000

5> 14500
3. 14000

4. 16500

Question Number : 40 Question Id : 36496350552 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

I T o mﬂ-e,mﬁaaaﬁ_%mﬁarﬁz% 3 318422.25 BT 2, ook ATt T, Wt tr
T YT AR

Options :

1. 15000

5 14500



3. 14000

4. 16500

Question Number : 41 Question Id : 36496350553 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

The area of a circular field is 15400m?. What is the cost of fencing the field at 212.50 per m? (takem = i )
§ p ”

Options :
1. 6600

5> %8800

4. 34400

Question Number : 41 Question Id : 36496350553 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
o TR W 7 67 15400 n? | 666 TR A 4TS ST 41 R 212,50 7 e A @ @ @ e (7

17
:;-ﬁﬁw)

Options :
1. 6600

5 28800



4. T4400

Question Number : 42 Question Id : 36496350554 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

The curved surface area of a right circular cylinder of base radius 35cm is 2640cm?.

What is the volume of the cylinder? (take m = 2? )

Options :

1. 38500 cm®
5> 42350 cm’
3, 44275 cm’

4. 46200 cm®

Question Number : 42 Question Id : 36496350554 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

" g , - 2
ST 135 o 7 T 30 1 3 655 T 5T 2640 cm? 1 8 97 1 o 1 2 (1T =

GilEL
Options :
1. 38500 cm?

5 42350 cm3



3. 44275 cm?

4 46200 cm?

Question Number : 43 Question Id : 36496350555 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

The perimeter of a parallelogram is 36 cm and the ratio between its two adjacent sides is 2:1. If the altitude
corresponding to the smaller side is 10 cm, what is its area?

Options :

e 7

1. 2 ecm”
"

2. 60 cm~
4

3. 3 cm”

4. 90 cm?

Question Number : 43 Question Id : 36496350555 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

T AT TS 71 D 36 o & 7 S 1 S oA o 1 7 G 2. | 21 9 908 7 1 9
vives 10c111‘%,ﬁ3ﬁwinwgﬂ;m 1 S )

Options :

1. 72 sz

2. 60 sz

3. 54 E‘Tﬂ,z



4. 90 f:m2

Question Number : 44 Question Id : 36496350556 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

IfF, E and V are respectively the number of faces, edges and vertices if a square pyramid, then which of the following
statement is true?

Options :
1. 3F+2E~=2V=1]

5 2F+3E-2V=2]
3 3F+E+V=17

4 2F+E-V=15

Question Number : 44 Question Id : 36496350556 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

T F, E 4V 99T T 1 3 ST ek TS o ere, T 0 11 1 WAy 2, A (el 5 @ -
AFATAL)

Options :
1 3F+2E-2V=21%

, 2F+3E-2V=21%

3 3F+E+V=17%



4 2F+E-V=15%

Question Number : 45 Question Id : 36496350557 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

In AABC and ADEF, if AB=DE.
AC=EF and BC=FD, then

Options :
1. ADEF=AABC
2. ADEFZABAC

3. ADEFZACAB

4. ADEFZABCA

Question Number : 45 Question Id : 36496350557 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

AABC 3R ADEF ¥, 978 AB = DE, AC = EF 3fR BC=FD %, at
Options :

. ADEF = AABC 2|

, ADEF = ABAC |
3. ADEF = ACAB 2|

4 ADEF = ABCA |



Question Number : 46 Question Id : 36496350558 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

In a quadrilateral ABCD, £D=50° and £C= 110", The bisectors of ZA and £B meet at the point P. The measure of
LAPBIs

Options :
1. 100°

2. 202
3, 707

4. 60°

Question Number : 46 Question Id : 36496350558 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

fo T4 ABCDH, £D=50 9 £C=110 71 £A 4t £B % T fo P e | £APB At 2

Options :

1 100

o

2. 80

4. 60



Question Number : 47 Question Id : 36496350559 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

In APQR, side QR is produced to S. RT is drawn parallel to QP. If ZPRT = 68 ° and ZPQR =35 °, then what is the
difference between the angles QRP and TRS?

Options :
1. 42 &

2. 48°

w
Lh

Question Number : 47 Question Id : 36496350559 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

APQR, ¥ QR 1 7% a1 a1 #) RT 1 QP 3 e e aen 1 7T ZPRT =68 9 LPQR=35 %,
A I QRP &1 TRS 3 e 31 1 37t 27

Options:

1 42

5, 48

Question Number : 48 Question Id : 36496350560 Question Type : MCQ Option Shuffling : Yes



Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

The sum of all interior angles of a regular polygon is 1080 °. What is the measure of its each exterior angle?

Options :
1. 35°

Question Number : 48 Question Id : 36496350560 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

forelt T s o Tt ST AT 1080 2 I e A 0 ) 710 7 27
Options :

| 8§

Question Number : 49 Question Id : 36496350561 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



Numbers 40,41, 42, ............, 129,130 are written on cards, one number on one card, and put in a box. A card is drawn
at random from the box. What is the probability that the mumber on the card drawn is divisible by 2, 3 and 47

Options :
8
1. 91

[
4. 91

Question Number : 49 Question Id : 36496350561 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

AT 40, 41, 42, .., 129, 130 7 7E1 T Fea T 2 (e 7 O W ) 7 Ot 7 vt ot O g
Teg T T 1 5 ST T 0 T T g Y e T 8] S e 0 £ P g A w ol
e, 3 A4 s &)
Options :

8
.91




11
21

Question Number : 50 Question Id : 36496350562 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

If X, y and z are respectively the mean, mode and median of the data
7,9,19, 11,10, 8,7, 5, 7, 6,9 and 10,

then what is the valueof (x + y — 2) ?
Options :
1. 93

Question Number : 50 Question Id : 36496350562 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Ty, y A2 A, 9,19, 11, 10,8, 7,5, 7, 6,9 A 10 % F00: %, T o A 5, 7 (1 +y )
FIRH)

Options:

1. 9.5



Question Number : 51 Question Id : 36496350563 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

A middle school teacher gives her students the following question: ‘In the given expression what number do you think

belongsto the box'9+3=0+7.
The common responses of her students were 12 and 19.
Which of the following statement is most appropriate for the given context?

Options:

1. Itisa misconception that arose because students were not viewing the symbol “="as a symbol to indicate equivalence.
5> The common answers given by most of the students are correct.
3. The teacher should give the right answer and ask students to practice similar questions from the textbook.

Focus should be on correct algorithm to get right answer as it is not important to understand equivalence relationship
4 tepresented by the symbol *="in the given question.

Question Number : 51 Question Id : 36496350563 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

e Tt 4 2 REATUaRT ATF ST AT 4 S € T 0 e 3, 10 1 i ¢ o 1 1909 3
-1 47 AT
9+3:[]+7
T AT T 6 T 12 4 19 41
frrferam 7 % Fr-m e e e o o oy e 0
Options :

1 T T O ST S, e 97 = 3 o 8 e 8 e e o O A G W
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Question Number : 52 Question Id : 36496350564 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Which of the following is the BEST example of a precise mathematical statement?
Options :

1. Median is a line from the topmost point of a triangle to the opposite side.

> Number of factors of a given number is always countable.
3. Congruent triangles can be formed with two sides.

4. Asquare is symmetrical but a pentagon is not.

Question Number : 52 Question Id : 36496350564 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
s o o F=-ar uﬁﬂqguihwnﬁiq Wﬂiﬁrﬂaﬁﬁmﬂ?ﬁm U 27

Options :
1 e B i %sﬂﬁ*%‘rﬁmﬁa’mﬁwﬂu T ST S ST T 2




, foreft +ft < 7% T F U @ i wET wen T w2

5 HITE %ﬂ«:ﬁ IS ﬂm;dﬁﬁr S=TAT ST HhaT 2

) TS TGN FTHS THME & w1 T TS AHd T8 o)

Question Number : 53 Question Id : 36496350565 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

A teacher develops a rubric involving five stages for analysing the types of errors that students in her class make in
mathematics based on Newman's error analysis. Match the stages in column A with their respective description in
column B.

Column Column B

A

aReading Stage (1) Student can understand the
meaning of the question

b Comprehension Stage (i1) Student can read the question

¢ Transformation Stage (11) Student can perform the

mathematical calculation or
procedure accurately

d Process Skills Stage (iv) Student can represent the
answer appropriately
¢ Encoding Stage (v) Student can select the

appropriate mathematical
operation or procedure

Choose the option

Options:

1 a-(1i), b-(1), c-(iv), d-(1ii), e-(v)
5 a(v), b-(i1), c-(1v), d-(1). e-(1i1)

3 a-(ii), b-(i), c-(v), d-(iii)., e-(iv)

4 a-(1), b-(ii), c-(iii), d-(v), e-(iv)



Question Number : 53 Question Id : 36496350565 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

T T S TR T o e e e i e e
R & AT 150 T e 2|

R A 3T 1 B 3 ) AT 1 7 0 e A

M A S B

(a) BT TR (i) BT T4 3 377 o O e 2
(b) TERAIEER | (ii) T T T A

(c) BT &R (i) BT TIOR3 W 71 Fa
1 R ¥ O 7 6 4

(d) ST T8 | (iv) TP I 1 3 O T
T

(o) TG FERE | (v) T 0T TS S 1
FTaTY 1 T T

e} e a1 7 AT —

Options :

, a—(ii),b—(i), c—(iv), d - (iii), e - (v)
, a—(v),b—(i1), ¢ —(iv), d (i), e~ (iii)
, a—(ii),b— (i), c—(v), d~(ii), e - (iv)
4 a— (i), b—(ii), ¢ — (iii), d - (v), e (iv)

Question Number : 54 Question Id : 36496350566 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No



Correct Marks : 1 Wrong Marks : 0

A middle school teacher asks the students to toss a fair coin 10 times and record their observations as:

Number of times head comes Number of times tails comes

Number of times the coin is tossed Number of times the coin is tossed

She then asks the students to foss the con 20 umes and agawn record their observations in same way. She keeps on
increasing the number of tosses and asks the students to record their observations.
The purpose of this activity is to:

Options :

1. Introduce the concept of fractions.

5 Complete the experiment prescribed in textbook and maintaining practical files in mathematics laboratory.

3, Help students identify the situations in which probability is greater than 1.

4. Help students arrive at the fact as the mber of tosses gets larger, the probability of head or tail gets closer to 0.5.

Question Number : 54 Question Id : 36496350566 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

W%@Wﬁﬂﬂﬁﬁﬂﬁﬁ@?ﬁ?ﬁﬁlﬂﬁ%ﬁﬁmaww F Fefer =0
aﬁaﬁrﬁgﬁm&f%ﬁmﬁr

fepeet am e o . ol AR 72 S

(erertt S ey ST T et o foraa 9 T
e T T 81 20 S TR T AT 3 Aerter o 960 © T T © Ao o foft e 2|
¢ TR 1 T 1 AT 1 11 T2 2 SR 70 el Bl AVl G e o e e

ERIGIE PR koo

Options :
1 =T 3T ST 3l e Tl

, U@?{ﬂﬁ%ﬁnﬁgmﬁmﬁmﬁmﬂww ﬁu::r AT AT Uit BEe &



3, I ORIt 1 UE=Te 5 ST 3l HETaaT AT S Tt | a9 2

T 7 W UG & T 61 S S 1 S-S e ST 1 S A ST S, o 1 e A
P e DR

Question Number : 55 Question Id : 36496350567 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Which of the following mathematical situations does NOT involve problem solving skills?
Options :
1. Find the value 0of 3.25 X 6

o Formulate various situations to represent the equation 2x + h==1}
3 Using multiple methods to arrive at the right answer

4 Verifying and interpreting the answer

Question Number : 55 Question Id : 36496350567 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
st e e T e e
Options:

. 3.25 X 6% A 4 o]

T 2 + 5= 17 ﬁﬁ'ﬁﬁﬁ&?ﬁ%%ﬂ%ﬁﬂﬁ&ﬂﬁﬁﬁﬂﬂ%&%l

2.
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Question Number : 56 Question Id : 36496350568 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Which of the following is the most appropriate strategy for a teacher to use in an infroductory class on ratio?
Options :

1. What is the meaning of 1:2?
5 Ihad 10 chocolates and my brother took 6 of them: how many do I now have?
3. How can I compare the length of a toy car with the length of a real car using division?

4. While cooking rice, 3 cups of water is added for 4 cups of rice. How much water should Tuse for 15 cups of rice?

Question Number : 56 Question Id : 36496350568 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
S 1 ST U e ST 5 o T, S U9, U ATt & -4 27
Options :

1 12T g ®

, T 10 weAcre o ST S 9T 7 S ¥ 6 Heree o oAl 3 Y o7 fet e e 7

; T 1 3T @Eﬁgﬂ%m@#ﬁéﬁwaﬁ%ﬁm@ﬁﬁﬁéﬁ%&ﬁmﬁ?
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Question Number : 57 Question Id : 36496350569 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Which of the following can be used to encourage interdisciplinarity in Mathematics assessment?
) Field trips

) Projects

) Anecdotal records

a
b
s
d) Classroom observations

(
(
(
(
Choose the correct option.

Options :
1 (c) and (d)

3 (b) and (c)
3. (a) and (b)

4. (a) and (d)

Question Number : 57 Question Id : 36496350569 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

AT B ¥ TohgeeT SUaT T 3 AT H 377 T 3 TeHITes S o el ol ] ke 2
(a) #9590

(b) wfeare

(c) ST TG

(d) et SR

e e T —




Options :

(c) 3R (d)

1

' {b}ﬁ'{{c]

2

(a) =TT (b)

3.

(a) ¥R (d)

4,

Question Number : 58 Question Id : 36496350570 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Ms. Sarita brought a fair die (singular of dice) to her class. Which of the following is LEAST suited to be taught using
this?

Options :
1 Bar graph
2. Euler's formula

3. Direct proportion

4. Probability

Question Number : 58 Question Id : 36496350570 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

A T ST T 3 T T2 T e 4| AT 5 -1 360k A TG 3 [ e
T !
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Question Number : 59 Question Id : 36496350571 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

With the help of “‘GeoGebra software’, students can learn geometrical concepts through
Options :

1. broject-based approach

2. formal deduction

3, lecture-based approach

4. exploratory approach

Question Number : 59 Question Id : 36496350571 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

AT ST ) e ¥, T ST STt 1 7S e 2 F AT Y

Options :

[ =
1. WISl HTET A 3UTTH
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3, AT TR 3UTH

4. HLGGUTcHh 3UTTH

Question Number : 60 Question Id : 36496350572 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

According to National Curriculum Framework 2005, school Mathematics takes place in a situation where:

Options :

1. Students solve those problems in mathematics which are part of higher mathematics education.
5 Students see mathematics as a part of their daily life experiences and something to talk and discuss about.

3. Teacher is an active narrator and children are listeners in the class.

4. Children are reciting multiplication tables together in a rhythm.

Question Number : 60 Question Id : 36496350572 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 61 Question Id : 36496350573 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Sanjana has three magnet, A, B and C, whose poles are marked as A1, A2, B1, B2 and C1, C2 respectively. She noted
down the following observations on bringing the magnets closer

Al repels B1

Al repels C2
If C1 is north pole, then which of the following statements is trug.

Options :
1. B2 is north pole and Al is south pole
5 Bl is north pole and A2 is south pole

3. Both Bl and Al are north poles

4 Both Bl and Al are south poles

Question Number : 61 Question Id : 36496350573 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 62 Question Id : 36496350574 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

The speed-time graph of an object is a straight line. Which of the following statements can be concluded?
A- The motion of the object is a uniform motion
B- The object is at rest
C- The motion of the object is a non uniform motion.

Options :
1. AorB

2. BorC

3, AorC



Question Number : 62 Question Id : 36496350574 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 63 Question Id : 36496350575 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Which properties of solid particles is used for the process of sedimentation?
Options :

1. Light and soluble in water.

o Light and insoluble in water.

3 Heavy and soluble in water.

4 Heavy and insoluble in water.



Question Number : 63 Question Id : 36496350575 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 64 Question Id : 36496350576 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

The following observation were noted by Antara on burning various fibres on a candle flame
X - burns with bright light and greyish black ash is left
Y — burns by curling and produces dark crisp ash
Z — melts on burning

X.Y. Z could be respectively

Options :
1. Cotton, nylon, wool
5 Jute, wool, rayon

3. Silk, denim, nylon

4. Wool. silk. rayon



Question Number : 64 Question Id : 36496350576 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 65 Question Id : 36496350577 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

In which of the following simple series circuits, will the bulb / bulbs glow brighter assuming that cells and bulls are
identical in each case.

Options :

1. One bulb and one cell

2. One bulb and two cells



3. Two bulbs and one cell

4. Two bulbs and two cells

Question Number : 65 Question Id : 36496350577 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 66 Question Id : 36496350578 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

_A isrequired for proper functioning of thyroid gland and deficiency of it caused B . It is an endemic deficiency
disease as it is usually suffered by people living in_C regions. Deficiency of “A” also causes D in children.
A, B. C. D respectively are

Options :

1 Calcium., rickets. coastal. bone malformation

> Phosphorus, goitre, coastal, bone malformation



3. Iron. anaemic, desert, stunted growth

4 Iron, goitre, hilly, mental retardation

Question Number : 66 Question Id : 36496350578 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 67 Question Id : 36496350579 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Read the following statements and choose correct response.

Assertion (A) — A solar eclipse occurs when the moon comes in between the sun and the Earth
Reason (R1) — Shadow of the Earth falls on moon, blocking the sunlight

Reason (R2) — Moon casts a shadow on parts of the Earth, blocking the sunlight

Options :

1. Als correct and R1 is correct explanation of A.



5 Adls correct and R2 is correct explanation of A.
3. Als correct and neither R1 nor R2 is correct explanation for A.

4. Als incorrect.

Question Number : 67 Question Id : 36496350579 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 68 Question Id : 36496350580 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
Which of the following statements is not true bout shadow formation?
Options:

1 A yvellow object casts a black shadow.



> Shadow can be formed by opaque objects only.
3 Length of shadow Is always same as length of object.

4. The shape of shadow depends on the distance between the source of light and the object.

Question Number : 68 Question Id : 36496350580 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 69 Question Id : 36496350581 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Read the following statements and choose correct option
Assertion (A) — A stomata are usually present on surface of leaves and succulent stem in desert plants.
Reason (R) - The position of stomata in leaves affects the rate of transpiration in plants.

Options :

1. Both A and R are correct and R is correct explanation for A



> Both A and R are correct but R not is correct explanation for A

3. Als correct but R is incorrect

4. R is correct but A is incorrect

Question Number : 69 Question Id : 36496350581 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 70 Question Id : 36496350582 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

A female reproduction organ of a plant is called as __ X It consists of 3 parts of which Y is mainly the receptive

surface for pollen grains. Fertilization takes place inthe Z . _
X Y. Zare



Options :

1. X - pistil, Y —stigma, Z - ovules
5 X - pistil, Y —style, Z - ovules
3. X -stamen, Y — filament, Z - ovary

4 X - stamen. Y —style, Z - ovary

Question Number : 70 Question Id : 36496350582 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 71 Question Id : 36496350583 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



Identify the type of cell on the basis of information provided in the following table

A | present in human beings but lacks nucleus

B | has very large vacuole

C | has no cell wall

D | bean shaped and occur in pairs

E | tube like with opening on both sides
Options :

A- Cheek cell, B - Cells in grass , C — Guard cell,
D- Xylem. E - Phloem

A-RBC, B — Cell on onion peel, C- Cheek cells
D- Guard cell, E — Xylem cells

A—WBC, B — Nerve cell. C- Muscle cell
D-Xylem, E - Phloem

A —Nerve cell, B—RBC. C- Muscle cell
4. D- Guard cell. E - Phloem

Question Number : 71 Question Id : 36496350583 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 72 Question Id : 36496350584 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Liquids A, B and C are immiscible in water whose mass and volume are given in the following table

Liquid Mass (g) Vol (enr’)
A 54 5
B 4.6 50
C 130 100

If density of water 1 gs’cm{ which of the following statements is true?
Options :

1. Liquid A will float in water

5 Liquids A and C will float in water

3. Liquids B and C will float in water

4. Liquid B will float in water

Question Number : 72 Question Id : 36496350584 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 73 Question Id : 36496350585 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Which of the following statements is incorrect regarding sound

Options :

1. Sound from a violin and a flute played at same time travel at same speed
> Two sound waves of same intensity will always have equal loudness

3. Speed of sound in hot air is more than that a room temperature.

4. Speed of sound is affected by density of medium.



Question Number : 73 Question Id : 36496350585 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 74 Question Id : 36496350586 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Rate of evaporation in inversely proportional to
Options :

1. Surface area

5 Temperature
3. Humidity

4. Wind speed

Question Number : 74 Question Id : 36496350586 Question Type : MCQ Option Shuffling : Yes



Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 75 Question Id : 36496350587 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Metal ‘A’ displaces metal ‘B’ from its salt solution, but not able to displace metal *C’ from its salt solution. Metal ‘B’
displaces metal ‘D’ from its salt solution. Which of the following depicts correct order of reactivity of metals.

Options :
1. A B>C=>D
2. B=C>=A>D

3. C>A>B>D

4. CA>D>B

Question Number : 75 Question Id : 36496350587 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Options :

1. AB>C>D

2> B>C>A>D

3 C>A>B>D
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Question Number : 76 Question Id : 36496350588 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Math the following

(a) a non-metal that exists in two forms (1) Chlorine

(b)a non-metal which is liquid at room temperature (11) Zinc

(c) a metal which is constituent of brass and bronze (iii) Carbon

(d)a non-metal used for disinfecting water (1v) Bromine

(e) a metal used in electroplating (v) Copper
Options :

1. (@) = (iii), (b) = (i), (¢) = (ii), (d) - (iv), e = (V)

5 (a)- (Iv), (b) — (L) () — (V). (d) - (1), e — (iI)

3. (@)= (D), (b) = (iv), (¢) — (i), (d) - (iii), e — (V)

4. (@ (iid), (b) = (iv). (¢) = (v), (d) - (1), & — (i)

Question Number : 76 Question Id : 36496350588 Question Type : MCQ Option Shuffling : Yes



Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Options :

1 A—(iii), B— (i), C—(ii), D—(iv), E—(V)

, A—(iv), B (iii), C - (v), D— (i), E-(ii)

5 A—(i), B—(iv), C—(ii), D - (iii), E~ (v)

4 A= (iii), B—(iv), C = (v), D= (i), E—(ii)

Question Number : 77 Question Id : 36496350589 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Which of the following statement is/are true regarding veins in human beings?
A. They mostly carry carbon dioxide rich blood to the heart.
B. They have thick walls.
C. They have valves which allow blood to flow in one direction.
D. They are superficially locked under the skin

Options :
1. 4B, C

5 A&CD



; B.C.D

Question Number : 77 Question Id : 36496350589 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 78 Question Id : 36496350590 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Which of the following statements is/are true about viruses?
A. They can reproduce on their own
B. They derive nutrition from the host cells
C. They lack cellular structure
D. They help in decaying dead matter

Options :



~Aand B

—

2. AandD
3. BandC

4, Cand D

Question Number : 78 Question Id : 36496350590 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 79 Question Id : 36496350591 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Which of the following are water borne bacteria diseases



Options :

1 Malaria. Cholera

> Typhoid, Jaundice

3 Malaria. Jaundice

4. Typhoid, Cholera

Question Number : 79 Question Id : 36496350591 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 80 Question Id : 36496350592 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
Which of the following adaptations helps aquatic plants to remain afloat in water?
Options :

1. Larger holes in stems of plants



o Waxy coating on leaves

3. Ribbon like leaves

4. Stomata in upper surface of leaf

Question Number : 80 Question Id : 36496350592 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

e = & - ST ST U S S WA Te S ST e 27
Options :

| T SR wre Tt

, Tt % 91 A A

o W SRR Y [
3, I STHET 9|

4, T T ST HAE W

Question Number : 81 Question Id : 36496350593 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Ms. Vaishnavi wants to build student understanding that the magnetic strength is maximum at the poles of a magnet.
Which of the following activities is MOST aligned with this lesson objective?

Options:

1. Bringing two like poles of different magnets close to each other.



> Take an iron nail close to the magnet and see If it is attracted more near the poles or at the centre of the magnet
3. Wrapping steel wires over an iron bar followed by passing electricity.

4 Placing a bar magnet in a box filled with iron fillings.

Question Number : 81 Question Id : 36496350593 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 82 Question Id : 36496350594 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Your students have just entered grade 8. If students have largely mastered the concepts taught till grade 7 as per
NCERT, which of the following will they most likely NOT be able to describe?

Options :

1. Relationship between formation of winds and air pressure



o Expansion of air as a result of heating
3 Adoption of safety measures during cyclones

4 Adoption of protective measures during earthquakes

Question Number : 82 Question Id : 36496350594 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 83 Question Id : 36496350595 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
Ms. Anjali wanted to introduce the 'water cycle' by asking students to first conduct an activity at home and then relating

that to the concept.
Which of the following activities will be LEAST suitable for the purpose?

Options :



1. Boiling water, cooling and putting it in a filter, drinking from the filter regularly and then boiling water again to fill it
5 Collecting the steam of boiling water on a plate with an ice cube over it.
3. Keeping utensils filled with water in sunlight for a couple of hours and then observing them.

4 Walking in the garden bare feet early in the morning and feeling dew.

Question Number : 83 Question Id : 36496350595 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 84 Question Id : 36496350596 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Which of the following best describes an open-ended question?

Options :



1. How will you detect starch in potato?
> Which of the following food items is a rich source of protein?
3 How can you make a balanced diet chart for your family?

4 Name a food item which is a source of protein as well as fat?

Question Number : 84 Question Id : 36496350596 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 85 Question Id : 36496350597 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Which of the following questions is BEST suited to develop deductive reasoning in students?
Options :

1. Why is the colour of the blood red?



2. What are the differences between arteries and veins?

3 Velns carry deoxygenated blood. Is aorta a vein?

4 Xylem and plant; water pipe and house. What is similar between these two pairs?

Question Number : 85 Question Id : 36496350597 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 86 Question Id : 36496350598 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Which of the following is the MOST appropriate instructional aid for a teacher to INTRODUCE the concept of how
shadows are formed?

Options :
1. Aperiscope



5 Apin hole camera

3. Asundial

4. Abumning candle

Question Number : 86 Question Id : 36496350598 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 87 Question Id : 36496350599 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
Which of the following is BEST suited to be taught using a simulation software?
Options :

1 Effect of using a pulley to raise a weight

» Effect of striking a billiards ball with a stick on a billiards table



3, Effect of pushing a heavy load on opposite directions with unequal forces

4 Effect of changing weight of a body floating in water

Question Number : 87 Question Id : 36496350599 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 88 Question Id : 36496350600 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

A Hook' activity is the one which makes use of students' existing knowledge and generate interest. Which of the
following would be the BEST "hook" activity for Ms.Saloni to use while introducing the topic of soil profile?

Options :

1 Asking students to collect soil samples from different areas in their locality

5 Asking the students to plant a seedling in a farmland.



3. Asking students to separate different layers of soil after digging in a farmland.

4. Showing a video on the importance of different layers of soil in crop production.

Question Number : 88 Question Id : 36496350600 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 89 Question Id : 36496350601 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

One of the students in the class said that bacteria is the only kind of microorganism.
Which of the following remedial actions would be BEST suited to clarify the misconception?

Options :

1. Teacher brings a mushroom and explains why it is a fungi.

5 Teacher brings a pond water sample and makes the students observe it under a microscope.



3. Teacher brings a drug derived from a microorganism and makes students observe it under a microscope.

4. Teacher brings the oot nodules of a leguminous plant and makes students observe it under a microscope.

Question Number : 89 Question Id : 36496350601 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 90 Question Id : 36496350602 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Which one of the following is the BEST example of an 'authentic task’ to assess students' understanding related to
chemical changes?

Options:

1. Design a chamber which prevents rusting of iron nails.



5 Create a filtration mechanism to reduce salinity levels in sea water.
3. Observe the changes on an iron nail when placed in a copper sulphate solution.

4. Create a cooling chamber that can maintain low temperatures for chemical changes.

Question Number : 90 Question Id : 36496350602 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Language I
Section Id : 3649631620
Section Number : 3
Section type : Online
Mandatory or Optional : Mandatory

Number of Questions : 17



Number of Questions to be attempted : 17

Section Marks : 30

Enable Mark as Answered Mark for Review and

Clear Response: Yes
Sub-Section Number : 1
Sub-Section Id : 3649632932
Question Shuffling Allowed : Yes

Question Id : 36496350603 Question Type : COMPREHENSION Sub Question Shuffling Allowed

: Yes Group Comprehension Questions : No
Question Numbers : (91 to 99)

Question Label : Comprehension

Read the passage given below and answer the questions/complete the
statements that follow by choosing the most appropriate options out of
the given ones.

1. Lionel was in a bad shape. He was bloodied and beaten. He was
too weak to haul his poor, broken little body inside the house. By
the time Nola saw him; his battered body had already lost too
much blood. Lionel, the duck, died a few minutes later.

2. When Nola broke the news to her customers, they were
devastated. One elderly gentleman was especially heart-broken.
He used to feed Lionel a slice of bread or a biscuit which he kept
in his pocket especially for the occasion. They would spend an
hour every week like that, enjoying each other’s company. When
he heard about Lionel’s death, the old man sat down on the same
bench and let the tears run freely down his cheeks. Two weeks
later, he was dead.

3. Nola also had to tell the children who used to play with Lionel on
their way to school. Lionel waddled around them, muttering and
letting them feel his soft white feathers while they waited for the
bus. Some of the children made sympathy cards for Nola. She also
received many condolences — a few from friends and many from
strangers. It was only then that she realised how many friends
Lionel had made; how many hearts he had touched. It seemed as
if the whole town was mourning his death.

Sub questions

Question Number : 91 Question Id : 36496350604 Question Type : MCQ Option Shuffling : No



Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Which ultimate factor led to Lionel’s death?
Lionel could not be saved as

he was very weak.

he was bloodied and beaten.
he had lost too much blood.
4. he was in a bad shape.

il

Options :
1.1
2.2
3.3
4.4

Question Number : 92 Question Id : 36496350605 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Read the following statements:

A. The old gentleman was devastated because he
would not be able to feed Lionel bread or biscuit
henceforth.

B. He enjoyed feeding Lionel at least for one hour
every day.

Both A and B are true and B is responsible for A.
Both A and B are true and A is responsible for B.
A is false but B is true.
4. Alis true but B is false.

L

Options :
1.1
2.2
3.3
4.4

Question Number : 93 Question Id : 36496350606 Question Type : MCQ Option Shuffling : No



Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Nola was a/an:

member of a religious institution.
store keeper.

house wife.

4. aveterinary surgeon.

bl B

Options :
1.1
2.2
3.3
4.4

Question Number : 94 Question Id : 36496350607 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

The school children were sad because Lionel:

used to walk with them to school.

boarded the school bus along with them.
played with them in the school bus.

4. allowed them to feel his soft white feathers.

L B e

Options :
1.1
2.2
3.3
4.4

Question Number : 95 Question Id : 36496350608 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



Nola received many condolences from friends and
strangers. She felt

proud

sad
sympathetic
4. angry

Ll

Options:
1.1
2.2
3.3
4.4

Question Number : 96 Question Id : 36496350609 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

In para 3 — “While they waited for the bus’ is an example of
afan

noun clause
adjective clause
adverb clause

4, coordinate clause

W N

Options :
1.1
2.2
3.3
4.4

Question Number : 97 Question Id : 36496350610 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



‘Lionel waddled around them’ means he

walked with short steps
galloped excitedly

had a swinging gait
both (1) and (3)

P Ll B P

Options :
1.1
2.2
3.3
4.4

Question Number : 98 Question Id : 36496350611 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

‘battered’ in para 1 is used as a/an

verb
adjective
noun

4. adverb

Pkt

Options :
1.1
2.2
3.3
4.4

Question Number : 99 Question Id : 36496350612 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

The word ‘mourn’ in para 3 means to feel and show their

anger
frustration
sadness
apathy

B e



Options :
1.1
2.2
3.3
4.4

Question Id : 36496350603 Question Type : COMPREHENSION Sub Question Shuffling Allowed

: Yes Group Comprehension Questions : No
Question Numbers : (91 to 99)

Question Label : Comprehension

Read the passage given below and answer the questions/complete the
statements that follow by choosing the most appropriate options out of
the given ones.

1. Lionel was in a bad shape. He was bloodied and beaten. He was
too weak to haul his poor, broken little body inside the house. By
the time Nola saw him; his battered body had already lost too
much blood. Lionel, the duck, died a few minutes later.

2. When Nola broke the news to her customers, they were
devastated. One elderly gentleman was especially heart-broken.
He used to feed Lionel a slice of bread or a biscuit which he kept
in his pocket especially for the occasion. They would spend an
hour every week like that, enjoying each other’s company. When
he heard about Lionel’s death, the old man sat down on the same
bench and let the tears run freely down his cheeks. Two weeks
later, he was dead.

3. Nola also had to tell the children who used to play with Lionel on
their way to school. Lionel waddled around them, muttering and
letting them feel his soft white feathers while they waited for the
bus. Some of the children made sympathy cards for Nola. She also
received many condolences — a few from friends and many from
strangers. It was only then that she realised how many friends
Lionel had made; how many hearts he had touched. It seemed as
if the whole town was mourning his death.

Sub questions

Question Number : 91 Question Id : 36496350604 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



Which ultimate factor led to Lionel’s death?
Lionel could not be saved as

1. he was very weak.

2. he was bloodied and beaten.
3. he had lost too much blood.
4. he was in a bad shape.

Options:
1.1
2.2
3.3

4.4

Question Number : 92 Question Id : 36496350605 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Read the following statements:

A. The old gentleman was devastated because he
would not be able to feed Lionel bread or biscuit
henceforth.

B. He enjoyed feeding Lionel at least for one hour
every day.

Both A and B are true and B is responsible for A.
Both A and B are true and A is responsible for B.
A is false but B is true.
4. Als true but B is false.

L

Options :
1.1
2.2
3.3
4.4

Question Number : 93 Question Id : 36496350606 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



Nola was a/an:

member of a religious institution.
store keeper.

house wife.

4. aveterinary surgeon.

ol P

Options :
1.1
2.2
3.3
4.4

Question Number : 94 Question Id : 36496350607 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

The school children were sad because Lionel:

used to walk with them to school.

boarded the school bus along with them.
played with them in the school bus.

4. allowed them to feel his soft white feathers.

L B e

Options :
1.1
2.2
3.3
4.4

Question Number : 95 Question Id : 36496350608 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Nola received many condolences from friends and
strangers. She felt

proud

sad
sympathetic
angry

W



Options :
1.1
2.2
3.3
4.4

Question Number : 96 Question Id : 36496350609 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

In para 3 — “While they waited for the bus’ is an example of
afan

noun clause
adjective clause
adverb clause

4. coordinate clause

W N

Options :
1.1
2.2
3.3
4.4

Question Number : 97 Question Id : 36496350610 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

‘Lionel waddled around them’ means he

walked with short steps
galloped excitedly

had a swinging gait
both (1) and (3)

P Ll B P

Options :
1.1
2.2
3.3



4.4

Question Number : 98 Question Id : 36496350611 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

‘battered’ in para 1 is used as a/an

verb
adjective
noun

4. adverb

Bk it

Options :
1.1
2.2
3.3
4.4

Question Number : 99 Question Id : 36496350612 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

The word ‘mourn’ in para 3 means to feel and show their

anger
frustration
sadness
apathy

L B e

Options :

1.1

2.2

3.3

4.4

Sub-Section Number : 2
Sub-Section Id : 3649632933

Question Shuffling Allowed : Yes



Question Id : 36496350613 Question Type : COMPREHENSION Sub Question Shuffling Allowed

: Yes Group Comprehension Questions : No
Question Numbers : (100 to 105)

Question Label : Comprehension

Read the stanzas given below and answer the questions/ complete the
statements that follow by choosing the most appropriate options out of

the given ones.

(Richard Cory) was always quietly arrayed,
And he was always human when he talked;
But still he fluttered pulses when he said,

"Good morning” and he glittered when he walked.

And he was rich — yes richer than a king —
And admirably schooled in every grace:

In fine, we thought that he was every thing
To make us wish that we were in his place.

So we worked and waited for the light,

And went without meat and cursed the bread;
And Richard Cory, one calm summer night,
Went home and put a bullet through his head.

Sub questions

Question Number : 100 Question Id : 36496350614 Question Type

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Richard Cory was dressed in:

expensive clothes

a simple dress
colourful clothes

4. loose and thin clothes

B B

Options :
1.1
2.2
3.3
4.4

: MCQ Option Shuffling : No



Question Number : 101 Question Id : 36496350615 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

He was:

poor and polite
proud and arrogant
rich and polite
rich and proud

M L B BN

Options :
1.1
2.2
3.3
4.4

Question Number : 102 Question Id : 36496350616 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

‘he glittered when he walked’
The underlined is a

simile
metaphor
personification
4, symbol

il v

Options :
1.1
2.2
3.3
4.4

Question Number : 103 Question Id : 36496350617 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



Study the following statements:
(a) People around wanted to be like him.
(b) Poor people were not jealous of him.

. (a)isright and (b) is wrong.
. (b) is right and (a) is wrong.
Both (c) and (b) are right.

4. Both (a) and (b) are wrong.

W N

Options :
1.1
2.2
3.3
4.4

Question Number : 104 Question Id : 36496350618 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
Ordinary people:

worked hard yet they were poor.

were lazy so they could not earn their living.
worked hard and secured their meals.

4. did not have to work hard for their meat and bread.

Lid Bl P

Options :
1.1
2.2
3.3
4.4

Question Number : 105 Question Id : 36496350619 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



The story of Richard Cory tells us that:
(a) the rich are not always proud of their riches.
(b) money can get one everything-even peace of mind
(c) Richard Cory was not happy despite his wealth.

. (a) is right and (b) is wrong.
. (b) is right and (c) is wrong.
. {(c) is right and (a) is wrong.
4. Both (a) and (b) are right.

[ R

Options :
1.1
2.2
3.3
4.4

Question Id : 36496350613 Question Type : COMPREHENSION Sub

: Yes Group Comprehension Questions : No
Question Numbers : (100 to 105)

Question Label : Comprehension

Question Shuffling Allowed

Read the stanzas given below and answer the questions/ complete the
statements that follow by choosing the most appropriate options out of

the given ones.

(Richard Cory) was always quietly arrayed,

And he was always human when he talked;

But still he fluttered pulses when he said,

“Good morning” and he glittered when he walked.

And he was rich —yes richer than a king —
And admirably schooled in every grace:

In fine, we thought that he was every thing
To make us wish that we were in his place.

So we worked and waited for the light,

And went without meat and cursed the bread;
And Richard Cory, one calm summer night,
Went home and put a bullet through his head.

Sub questions

Question Number : 100 Question Id : 36496350614 Question Type

: MCQ Option Shuffling : No



Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Richard Cory was dressed in:

expensive clothes

a simple dress
colourful clothes

4. loose and thin clothes

B B

Options:
1.1
2.2
3.3
4.4

Question Number : 101 Question Id : 36496350615 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

He was:

poor and polite
proud and arrogant
rich and polite
rich and proud

e Ll B B

Options :
1.1
2.2
3.3
4.4

Question Number : 102 Question Id : 36496350616 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



‘he glittered when he walked’
The underlined is a

simile
metaphor
personification
4. symbol

ol e B

Options:
1.1
2.2
3.3
4.4

Question Number : 103 Question Id : 36496350617 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Study the following statements:
(a) People around wanted to be like him.
(b) Poor people were not jealous of him.

1. (a)isright and (b) is wrong.
2. (b)isright and (a) is wrong.
3. Both (c) and (b) are right.

4. Both (a) and (b) are wrong.

Options:
1.1
2.2
3.3
4.4

Question Number : 104 Question Id : 36496350618 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



Ordinary people:

1. worked hard yet they were poor.

2. were lazy so they could not earn their living.

3. worked hard and secured their meals.

4. did not have to work hard for their meat and bread.

Options :
1.1
2.2
3.3
4.4

Question Number : 105 Question Id : 36496350619 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

The story of Richard Cory tells us that:
(a) the rich are not always proud of their riches.
(b) money can get one everything-even peace of mind
(c) Richard Cory was not happy despite his wealth.

1. (a)isright and (b) is wrong.
2. (b)is right and (c) is wrong.
3. (c) isright and (a) is wrong.
4. Both (a) and (b) are right.

Options :

1.1

2.2

3.3

4.4

Sub-Section Number : 3

Sub-Section Id : 3649632934

Question Shuffling Allowed : Yes

Question Number : 106 Question Id : 36496350620 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No



Correct Marks : 1 Wrong Marks : 0

Situation (i): Ramesh and Suresh discuss over lunch, in English, what they did at home the previous day.
Situation (ii): Sunaina writes a detailed note in English on the experiment she performed in the Science lab.
Considering BICS and CALP as two aspects of language skills, which situation represents what?

1. (i)is CALP. (i) is BICS
2. Both (i) and (i) are CALP
3. Both (i) and (i) are BICS
4. (i)is BICS, (ii) is CALP

Options :
1.1
2.2
3.3
4.4

Question Number : 106 Question Id : 36496350620 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Situation (i): Ramesh and Suresh discuss over lunch, in English, what they did at home the previous day.
Situation (ii): Sunaina writes a detailed note in English on the experiment she performed in the Science lab.
Considering BICS and CALP as two aspects of language skills, which situation represents what?

1. (i)is CALP. (i) is BICS
2. Both (i) and (i) are CALP
3. Both (i) and (i) are BICS
4. (i)is BICS, (ii) is CALP

Options :
1.1
2.2
3.3
4.4

Question Number : 107 Question Id : 36496350621 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



Shyam Sunder reads a two page article from a magazine to understand the idea as a whole and tell his friend about it.
What is the reading strategy known as :

1. Tob down strategy
2. Bottom up strategy
3. Summarising

4. Study skills

Options:
1.1
2.2
3.3
4.4

Question Number : 107 Question Id : 36496350621 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Shyam Sunder reads a two page article from a magazine to understand the idea as a whole and tell his friend about it.
What is the reading strategy known as :

1. Tob down strategy
2. Bottom up strategy
3. Summarising

4. Study skills

Options :
1.1
2.2
3.3
4.4

Question Number : 108 Question Id : 36496350622 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



Which of the following pedagogical methods aligns CLOSELY with the "constructivist' approach?

1. Showing day-to-day objects to introduce the concept of idioms.
2. Using annotations to infer the meaning of the text.

3. Using real-life examples to create sentences with similes.

4. Drawing a flowchart to predict the events in a story.

Options :
1.1
2.2
3.3
4.4

Question Number : 108 Question Id : 36496350622 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
Which of the following pedagogical methods aligns CLOSELY with the "constructivist' approach?

1. Showing day-to-day objects to introduce the concept of idioms.
2. Using annotations to infer the meaning of the text.

3. Using real-life examples to create sentences with similes.

4. Drawing a flowchart to predict the events in a story.

Options :
1.1
2.2
3.3
4.4

Question Number : 109 Question Id : 36496350623 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



After introducing "reported speech” to grade 6 students, a teacher set up a pair activity:

Student A takes a piece of direct speech from a book and conveys it to Student B in reported speech. Student B tries to
guess what the direct speech would have been. Student A modifies his reported speech if needed, repeatedly, till
Student B guesses correctly.

The above activity MOST closely represents...

1. Krashen's Input hypothesis

2. Krashen's Acquisition—Learning hypothesis
3. Bruner's theory of development

4. Swain's Qutput hypothesis

Options :
1.1
2.2
3.3

4.4

Question Number : 109 Question Id : 36496350623 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

After introducing "reported speech” to grade 6 students, a teacher set up a pair activity:

Student A takes a piece of direct speech from a book and conveys it to Student B in reported speech. Student B tries to
guess what the direct speech would have been. Student A modifies his reported speech if needed, repeatedly, till
Student B guesses correctly.

The ahove activity MOST closely represents...

1. Krashen's Input hypothesis

2. Krashen's Acquisition—Learning hypothesis
3. Bruner's theory of development

4, Swain's Qutput hypothesis

Options :
1.1
2.2
3.3

4.4

Question Number : 110 Question Id : 36496350624 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No



Correct Marks : 1 Wrong Marks : 0

Which of the following is the MOST APPROPRIATE way for Ms. Meghna to demonstrate ‘active listening' in a story-
telling class?

1. Asastudent is telling the story, the teacher asks her clarifying questions like "When you said...what did you
mean?"

2. Once a student completes the story, the teacher asks him questions like "What were your main takeaways?",
"What did you learn?" etc.

3. While a student is sharing the moral of the story, the teacher stops her and asks for the meaning of a new word
she has used.

4, After each segment of the story shared by a student, the teacher asks another student to summarise what this
student shared.

Options :
1.1
2.2
3.3
4.4

Question Number : 110 Question Id : 36496350624 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Which of the following is the MOST APPROPRIATE way for Ms. Meghna to demonstrate ‘active listening' in a story-
telling class?

1. Asastudent is telling the story, the teacher asks her clarifying questions like "When you said...what did you
mean?"

2. Once a student completes the story, the teacher asks him questions like "What were your main takeaways?",
"What did you learn?" etc.

3. While a student is sharing the moral of the story, the teacher stops her and asks for the meaning of a new word
she has used.

4, After each segment of the story shared by a student, the teacher asks another student to summarise what this
student shared.

Options:
1.1
2.2
3.3
4.4



Question Number : 111 Question Id : 36496350625 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

National Education Policy (NEP) 2020 recommends the study of classical languages as

1. An additional option at the secondary stage

2. An option under three language formula

3. As asecond language under language - in - education policy
4. As a modern Indian language under three language formula

Options :
1.1
2.2
3.3
4.4

Question Number : 111 Question Id : 36496350625 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

National Education Policy (NEP) 2020 recommends the study of classical languages as

1. An additional option at the secondary stage

2. An option under three language formula

3. As asecond language under language - in - education policy
4. As a modern Indian language under three language formula

Options:
1.1
2.2
3.3
4.4

Question Number : 112 Question Id : 36496350626 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



Which of the following would you recommend as an effective strategy for vocabulary learning?

1. Word web on various themes

2. Words with their meaning in mother tongue
3. Spelling contest

4. Memorisation of word

Options :
1.1
2.2
3.3
4.4

Question Number : 112 Question Id : 36496350626 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Which of the following would you recommend as an effective strategy for vocabulary learning?

1. Word web on various themes

2. Words with their meaning in mother tongue
3. Spelling contest

4. Memorisation of word

Options :
1.1
2.2
3.3
4.4

Question Number : 113 Question Id : 36496350627 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
Which of the following is scaffolding strategy?

Providing students with texts and tasks above their level
Providing students with texts and tasks below their level
Providing support for learners to bridge the learning gaps
Providing support for learners through drills and coachings

P L B P



Options :
1.1
2.2
3.3
4.4

Question Number : 113 Question Id : 36496350627 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
Which of the following is scaffolding strategy?

Providing students with texts and tasks above their level
Providing students with texts and tasks below their level
Providing support for learners to bridge the learning gaps
Providing support for learners through drills and coachings

P Ll B P

Options :
1.1
2.2
3.3
4.4

Question Number : 114 Question Id : 36496350628 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Which of the following grammar concepts/sub-concepts is LEAST RELEVANT to be taught using the ‘inductive
approach' to teaching-learning?

1. Basic forms of comparative adjectives

2. Collective nouns for various common nouns

3. Sentence conversion from simple to continuous tense
4, Sentence conversion from active to passive voice

Options :
1.1
2.2



3.3
4.4

Question Number : 114 Question Id : 36496350628 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Which of the following grammar concepts/sub-concepts is LEAST RELEVANT to be taught using the ‘inductive
approach' to teaching-learning?

1. Basic forms of comparative adjectives

2. Collective nouns for various common nouns

3. Sentence conversion from simple to continuous tense
4. Sentence conversion from active to passive voice

Options :
1.1
2.2
3.3
4.4

Question Number : 115 Question Id : 36496350629 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Which approach/strategy advocates learning of words as word chunks?

Collocation
Lexical approach
Use of dictionary
4. Word web

Sk [l i=n

Options :
1.1
2.2
3.3
4.4



Question Number : 115 Question Id : 36496350629 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Which approach/strategy advocates learning of words as word chunks?

Collocation
Lexical approach
Use of dictionary
4. Word web

Sk [l i=n

Options :
1.1
2.2
3.3
4.4

Question Number : 116 Question Id : 36496350630 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

A teacher takes a weekly session to bring to the notice of learners of their errors they commit in writing. What does
she do?

1. Providing feedback

2. Error analysis

3. Correction of errors

4. Providing grammer lesson

Options:
1.1
2.2
3.3
4.4

Question Number : 116 Question Id : 36496350630 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



A teacher takes a weekly session to bring to the notice of learners of their errors they commit in writing. What does
she do?

1. Providing feedback

2. Error analysis

3. Correction of errors

4. Providing grammer lesson

Options:
1.1
2.2
3.3
4.4

Question Number : 117 Question Id : 36496350631 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Atest item drops every sixth word from a passage and ask learners to supply the missing word. What is this test item
known as?

1. Fillin the blanks
2. Cloze

3. Grammer task

4. vocabulory task

Options :
1.1
2.2
3.3
4.4

Question Number : 117 Question Id : 36496350631 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



A test item drops every sixth word from a passage and ask learners to supply the missing word. What is this test item
known as?

1. Fillin the blanks
2. Cloze

3. Grammer task

4. vocabulory task

Options:
1.1
2.2
3.3
4.4

Question Number : 118 Question Id : 36496350632 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Which of the following teaching-learning materials is a good resource to build the skill of 'making text-to-world
connections'?

1. Authentic materials and texts

2. Word wall in the classroom

3. Same text translated in multiple languages
4. Literature texts of different genres

Options :
1.1
2.2
3.3
4.4

Question Number : 118 Question Id : 36496350632 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



Which of the following teaching-learning materials is a good resource to build the skill of 'making text-to-world
connections'?

1. Authentic materials and texts

2. Word wall in the classroom

3. Same text translated in multiple languages
4. Literature texts of different genres

Options:
1.1
2.2
3.3
4.4

Question Number : 119 Question Id : 36496350633 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Which of the following is the BEST example of the flipped classroom approach' to teach about different writing styles?

1. Teacher assigns students an online exercise on classifying texts based on their writing styles and then gives them
individual feedhack.

2. Students watch a video about writing styles at home and in their next class identify which texts shared by the
teacher belong to each style.

3. Teacher delivers a lecture on writing styles over a video conference and students then watch more videos about
examples for each style.

4. Students watch a video about writing styles in the classroom and take an online quiz at home to identify which
texts belong to each style.

Options :
1.1
2.2
3.3
4.4

Question Number : 119 Question Id : 36496350633 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



Which of the following is the BEST example of the ‘flipped classroom approach’ to teach about different writing styles?

1. Teacher assigns students an online exercise on classifying texts based on their writing styles and then gives them
individual feedhack.

2. Students watch a video about writing styles at home and in their next class identify which texts shared by the
teacher belong to each style.

3. Teacher delivers a lecture on writing styles over a video conference and students then watch more videos about
examples for each style.

4. Students watch a video about writing styles in the classroom and take an online quiz at home to identify which
texts belong to each style.

Options :
1.1
2.2
3.3
4.4

Question Number : 120 Question Id : 36496350634 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
Which of the following is NOT true about language?

languages scientific system
Language is a system of systems
Language is culture free

Every language has a script

el o

Options :
1.1
2.2
3.3
4.4

Question Number : 120 Question Id : 36496350634 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



Which of the following is NOT true about language?

1. languages scientific system

2. Language is a system of systems

3. Language is culture free

4. Every language has a script
Options :
1.1
2.2
3.3
4.4
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Sub questions

Question Number : 121 Question Id : 36496350636 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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1.1
2.2
3.3
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Question Number : 122 Question Id : 36496350637 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Options :
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1.1
2.2
3.3
4.4

Question Number : 123 Question Id : 36496350638 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Options :
1.1
2.2
3.3
4.4

Question Number : 124 Question Id : 36496350639 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Options:
1.1
2.2
3.3
4.4

Question Number : 125 Question Id : 36496350640 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Options :
1.1
2.2
3.3
4.4

Question Number : 126 Question Id : 36496350641 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



Options :
1.1
2.2
3.3
4.4

Question Number : 127 Question Id : 36496350642 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Options:
1.1
2.2
3.3
4.4

Question Number : 128 Question Id : 36496350643 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Options :
1.1
2.2
3.3
4.4

Question Id : 36496350635 Question Type : COMPREHENSION Sub Question Shuffling Allowed

: Yes Group Comprehension Questions : No
Question Numbers : (121 to 128)

Question Label : Comprehension
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Sub questions

Question Number : 121 Question Id : 36496350636 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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STEITIRT AT IO TG o T SIrom|
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Options :
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Question Number : 122 Question Id : 36496350637 Question Type : MCQ Option Shuffling : No
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Correct Marks : 1 Wrong Marks : 0
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Options :
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1.1
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Question Number : 123 Question Id : 36496350638 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Options :
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Options:
1.1
2.2
3.3
4.4

Question Number : 125 Question Id : 36496350640 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Options :
1.1
2.2
3.3
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Question Number : 126 Question Id : 36496350641 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



Options :
1.1
2.2
3.3
4.4

Question Number : 127 Question Id : 36496350642 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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1. SOTaT o
2. S faw=
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Options:
1.1
2.2
3.3
4.4

Question Number : 128 Question Id : 36496350643 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Correct Marks : 1 Wrong Marks : 0

T T F e FET i R w T o 3o 27
l. SR

EALE T

\CEEL
I E Sl

L

I3

N S

Options :
1.1
2.2
3.3
4.4

Question Number : 130 Question Id : 36496350646 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No



Correct Marks : 1 Wrong Marks : 0
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Correct Marks : 1 Wrong Marks : 0
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Options :
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4.4

Question Number : 132 Question Id : 36496350648 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No
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Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Options :
1.1
2.2
3.3
4.4

Question Id : 36496350644 Question Type : COMPREHENSION Sub Question Shuffling Allowed

: Yes Group Comprehension Questions : No
Question Numbers : (129 to 135)
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Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

T T F e FET i R w T o 3o 27
l. SR

EALE T

\CEEL
I E Sl

L

I3

N S

Options :
1.1
2.2
3.3
4.4

Question Number : 130 Question Id : 36496350646 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No



Correct Marks : 1 Wrong Marks : 0
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Question Number : 131 Question Id : 36496350647 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 132 Question Id : 36496350648 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 133 Question Id : 36496350649 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 134 Question Id : 36496350650 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 135 Question Id : 36496350651 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Sub-Section Number : 3
Sub-Section Id : 3649632937

Question Shuffling Allowed : Yes

Question Number : 136 Question Id : 36496350652 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No



Correct Marks : 1 Wrong Marks : 0
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Question Number : 136 Question Id : 36496350652 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 137 Question Id : 36496350653 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 137 Question Id : 36496350653 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 138 Question Id : 36496350654 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
T SR ST A7 1 T 5 70 T T (gt 2 G (g Qe & o o o e 2
%mﬁaﬁwéaﬁaﬁmﬁﬂ%maﬁmm%@mwﬁmﬂmﬁaqm&%mﬁwmﬁ
%ﬂﬁ’ﬁﬁﬁﬂwﬂl%%H:gohmﬁdéwwﬁmﬁmﬁ%ﬁ%ﬂﬁ%?ﬁﬁaﬁﬁwﬁwﬁ?w
fovem fatr e )

| e affenme

2. STRRTES AT

3, ferm e

4 T et

Options :

1.1
2.2
3.3
4.4

Question Number : 138 Question Id : 36496350654 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
TR SR AT AT 1 T 5 7 T T (gt 2 e Frae 1 e & o g o 2
et 2 A 2 mmww?mwmmwmmwwm%lmwm
T 74 e & o e WI{WWW?%W%WWW?T@WW
g e ey

|, FmeTen ot

). STIRTETR ST

3. oo e

4 wewTT S

Options :




1.1
2.2
3.3
4.4

Question Number : 139 Question Id : 36496350655 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
o Tt o o 1 o7 001 721 2 3% 101 U 7 ot el Tt Ty 7 v e
e 3| et 3 9. e e e T e A
|, SRR 39 S & e W 2, T o oA o A A ) e o e A %
3] T S0 5 A e e T a3 T e £ 1 e T 1 4 e
2. Y e e 2, frnf St v v W e o v ey 9 e o fo 6 A A e
wmwﬁsﬁmwwaﬁm#mmmﬁWWWMWW{%WWW
ERIE ik
3, T S T T U S e 8 AT % e S a7 (e e o e 2]
ST T 5 A e T 1 oo 0 & 370 37T e T 198 3 T4 3 e, e
4. o 3 5 T 2 O R 6 O T U o e | R 16 1

A & T T 2 e 4
Options:
1.1
2.2
3.3
4.4

Question Number : 139 Question Id : 36496350655 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 140 Question Id : 36496350656 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 140 Question Id : 36496350656 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 141 Question Id : 36496350657 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 141 Question Id : 36496350657 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 142 Question Id : 36496350658 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 142 Question Id : 36496350658 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 143 Question Id : 36496350659 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 143 Question Id : 36496350659 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 144 Question Id : 36496350660 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
s e L e et e e
Tl faf 2
|, T T T TR o SR IO e T e o . T 6 e |
). e R e 6t O 3 S0 A T e QA 11 5 e e
3. TR 5 0 3T T ST et o (A, e AT e 0T 1 T o T 2 AT 306 3
g T 9
4. T o TR e 9 T a0 3 T e o U T . O 392 417 WIS o o %
1 a1 4

Options :

1.1

2.2



3.3
4.4

Question Number : 144 Question Id : 36496350660 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 145 Question Id : 36496350661 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
U R F T F AT AT FF A 82
1. WTST 37T % fore e v <Fraer (=) = w2
FETET FIT AT T97eT &1 <1 Tahe1 2
FETTa o AT & faw g fowes o weet 2
4. FENET H3CL T FT =7 fater 2

[-J

Lad

Options:
1.1
2.2
3.3



4.4

Question Number : 145 Question Id : 36496350661 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
U TR F T F AT A=A F FT A 22
1. WTST 3T 3 fore et ues faaer (@) w1 e w2
FETIT ZIT AT 37T & <7 Hehet 2
FETET 3 AT § Ay T S e 2
4. FETET 3T FA4 T =37 fa1 2

[~

i

Options :
1.1
2.2
3.3
4.4

Question Number : 146 Question Id : 36496350662 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 146 Question Id : 36496350662 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 147 Question Id : 36496350663 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 147 Question Id : 36496350663 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 148 Question Id : 36496350664 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 148 Question Id : 36496350664 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 149 Question Id : 36496350665 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 149 Question Id : 36496350665 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 150 Question Id : 36496350666 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 150 Question Id : 36496350666 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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